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QUESTION 1

What is the recommended procedure to shut down an ASM instance with a mounted ACFS file system at /
u01/app/oracle/acfsmounts/vol1, where the volume name is VOL1 and the disk group name is DATA? 

A. Issue the synchronize command for the file system twice. Then stop the ASM Instance with the SQL*Plus
SHUTDOWN ABORT command. 

B. Use the advmutil dismount /all /DATA command. Then stop the ASM instance with the SQL*Plus SHUTDOWN
IMMEDIATE command. 

C. Use the /bin/umount /u01/app/oracle/acfsmounts/vol1 command. Then shut down the ASM instance with the
SQL*PIus SHUTDOWN IMMEDIATE command. 

D. Use the SQL ALTER DISKGROUP VOLULE VOL1 DISMOUNT command. Then stop the ASM instance with the
SQL*Plus SHUTDOWN IMMEDIATE command. 

E. Stop the ASM instance with the SQL*Plus SHUTDOWN IMMEDIATE command. 

Correct Answer: C 

Oracle ACFS and Dismount or Shutdown Operations It is important to dismount any active file system configured with
an Oracle ADVM volume device file before an Oracle ASM instance is shutdown or a disk group is dismounted. After the
file systems are dismounted, all open references to Oracle ASM files are removed and associated disk groups can be
dismounted or the instance shut down. Oracle?Automatic Storage Management Administrator\\'s Guide 11g Release 2
(11.2) 

 

QUESTION 2

Identify the three forms of link aggregation that are supported by Oracle Ciusterware for the interconnect. 

A. single switch active/standby configuration to increase redundancy for high availability 

B. single switch active/active configuration to increase bandwidth for performance 

C. multiswitch active/standby configuration to increase redundancy for high availability 

D. multiswitch active/active configuration to increase bandwidth for performance 

Correct Answer: ABC 

Interconnect Link Aggregation: Single Switch 

Link aggregation can be used to increase redundancy for higher availability with an Active/Standby configuration. Link
aggregation can be used to increase bandwidth for performance with an Active/Active configuration. 

Interconnect Link Aggregation: Multiswitch 

Redundant switches connected with an Inter-Switch Trunk may be used for an enhanced highly available design. This is
the best practice configuration for the interconnect. 

With the single switch solutions presented in the previous slide, a failure at the switch level would bring down the entire
interconnect. A better highly available (HA) design would be to implement a redundant switch strategy as illustrated in
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the slide, with an Inter-Switch Trunk connecting the switches. This is the best practice design for the Oracle Clusterware
interconnect. Only Active/Standby mode is supported in this configuration. 

D60488GC11 Oracle 11g: RAC and Grid Infrastructure Administration Accelerated 1 - 12,13,14 

 

QUESTION 3

Under which account(s) can the Oracle Clusterware processes run for the Linux platform? 

A. only the root account 

B. only the Grid Infrastructure owner account 

C. only the database software owner account 

D. some under the Grid Infrastructure owner account and some under the root account 

E. some under the database software owner account and some under the root account 

Correct Answer: D 

Because Oracle Clusterware works closely with the operating system, system administrator priv- ileges are required for
some installation tasks. In addition, some Oracle Clusterware processes must run as the special operating system user,
root. Oracle Database 2 Day + Real Application Clusters Guide 

 

QUESTION 4

You are managing a policy-managed database called RACDB. Examine the output given below: 

You used these commands to add the service erp: 
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Which statement is true regarding the srvctl stop instance command? 

A. It will shut down the racdb_1 instance and the ERP service running on node gr7597. 

B. It will shut down the racdb_1 instance, and the ERP service will fail over to an available In- stance. 

C. It will shut down the racdb_1 instance, but the ERP service will keep running on node gr7597 

D. It will shut down the racdb_1 instance and the ERP service running on ih.il Instance However Oracle Clusterware can
restart the ERP service running on node gr7597. 

E. It will shut down the racdb_1 instance and stop the ERP service on all the nodes 

Correct Answer: A 

Stops instances and stops any services running on specified instances, unless you specify the -f option. If you specify -f,
then the services fail over to an available instance when the instance stops. 

Syntax and Options 

Use the srvctl stop instance command with the following syntax: 

srvctl stop instance -d db_unique_name {[-n node_name]|[-i "instance_name_list"]} [-o stop_op- tions] [-f] Oracle Real
Application Clusters Administration and Deployment Guide 

 

QUESTION 5

Examine the following output: 

[oracle@gr5153~]$srvctl add service -d RACDB -s erp -g pool1 -c uniform -y manual [oracle0gr5153~]$srvctl start
service -d RACDB -s ERP [oracle@gr5153~]$crsctl stat res ora.racdb.erp.svc NAME=ora.racdb.erp.svc
TYPE=ora.service.type TARGET=ONLINE, ONLINE, ONLINE STATE=ONLINE on gr5118, ONLINE on gr5152,
ONLINE on gr5153 [oracle@gr5153~]$ srvctl config database -d RACDB Database unique name: RACDB Database
name: RACDB Oracle home:/u01/app/oracle/product/11.2.0/dbhome_1 Oracle user:oracle
Spfile:+DATA/RACDB/spfileRACDB.ora Domain: Start options:open Stop options:immediate Database role:PRIMARY
Management policy:AUTOMATIC Server pools:POOL 1 Database instances: Disk Groups:DATA, FRA Services:ERP
Database is policy managed $srvctl stop database -d RACDB -o immediate 

Which two statements are true regarding the srvctl stop command? 

A. It will shut down all the instances of the RACDB database. 
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B. It will shut down only the RACDB instance and the ERP service on the node on which the Command is executed. 

C. It will shut down only the database instance on the node on which the command is executed. 

D. It will stop the ERP service related to the RACDB database on all the nodes. 

Correct Answer: AD 

Shut down all Oracle RAC instances on all nodes. To shut down all Oracle RAC instances for a database, enter the
following command, where db_name is the name of the database: 

srvctl stop database -d db_name 

Stops a database, its instances, and its services. When the database later restarts, services with AUTOMATIC
management start automatically but services with MANUAL management policy must be started manually. 

Oracle Real Application Clusters Administration and Deployment Guide 
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